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ecl-trans(x)
=4et ecl-ind(x;k,test.ecl-base-tuple(k;test);a,b,A,B.combine-ecl-tuples(A4;B;Aa,b,n. 0<an
A2 a(n)
Va b(n) Ay a(0);Aab. a Vo b);a,b,A,B.combine-ecl-tuples2(A; B;\x,a,b,n. isl(x)
Ao (0<an Ag if outl(xz)— a(n) else b(n) fi
Vo n=20 Ag a(0) Ay b(0));\ha,hb,eha,ehb,ab. a Ao —gehb
Va b Ay m9eha);a,b, A, B.combine-ecl-tuples2(A; B;\x,a,b,n. isl(x)
Ao if outl(z)— a(n) else b(n) fi;Aha,hb,eha,ehb,ab. a Ny —2hb Ao —oehb
Vo b Ag m9ha Ay —9eha);a,A.reset-ecl-tuple(A);a,m,A.add-ecl-act(A;m);a,m,A.ecl-add-throw(A4;m);a,l, A.ecl-add-c:
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